
SAP ABAP table LDLBHD {Dialog strukture LDLBH}

LDLBHD

MANDT [CLNT (3)]

LNID [NUMC (8)]

AENNR [CHAR (12)]

WERKS [CHAR (4)]

LUNIT [UNIT (3)]

AENR

MANDT [CLNT (3)]

AENNR [CHAR (12)] LDLBHD-AENNR = AENR-AENNR 0..N

0..N

CRID

MANDT [CLNT (3)]

OBJTY [CHAR (2)]

OBJID [NUMC (8)]

 LDLBHD-LNID = CRID-OBJID 0..N

1 T000

MANDT [CLNT (3)]

 LDLBHD-MANDT = T000-MANDT 
0..N1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 LDLBHD-WERKS = T001W-WERKS 

0..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 LDLBHD-LUNIT = T006-MSEHI 

0..N

0..N


